TGb_'C m Z§|2 w 2_0‘73

S e o 0w 539,209 Y
TR ShHTh 2015 Code : Z05

BOOKLET No.
UGSt
&2 : 2 (8) W HIVTET 10 qeAuTeE o or@reRH gﬁ:igﬁ
T

(1) wet wegferra 200 a9 AR, Iugan weE I fafrvare gear warE a1 wegfeehd w4
T TR fehar TEta I @rlt FEd T, a6e o w9 e & WIYfRehT aHdeRiehed g

<k T i we-Ha
2 mqﬂaz-wimaﬁaﬁ'—m T r
A feraar steraA forgmEn. TN Flera g

(3) T DY TG HHIH oAl STaiAara fafirse sinft seafieradia gaawmmd 7 foramar g o=,
@ (3) = WY Foish YeTen 4 v I gaEfael g @i 1, 2, 3 W1 4 3 wu e aTea.
1 AR ITATHT FAIG AT ITAT HHE ST AR GEATHTO qHT IAWEHRAt g A, 3T
TR IR IAGRATR g M 1 Heltd JTTHHTHEER BTEiihd Hed guiee Jige It
Hlcss! TATE. ETEHIAT ek hTedl YIS HieTd arolre, Uf=ae a1 wEs o amae 13,
(@) AR T At Tdt et 3 neaw ffga Fee o, = vt e avE ndh
TSR I wmw I SvaTe srenm ong. wmmtfie gmelidler Rhen wodidfter wemmre
watdt wrde STl aTgR v
(5) T W HOW YU MTEd. ANAd HE WIS I TEG. UEHS T BN AR ATl g BHAE v
g 9 TE GreaEd. HIH T ASu S 3R U TETET WA HET AEed ™ eret 9% 7
FISA TEIHS WAl HEht 3L
(6) IR Toher T Shoicd T WedT VK . I0g el IR Wigd T4 IR e @ quEe I
CIE
7N Wﬁéwmmﬁm%mmﬁwmwﬁﬁahmgﬂﬁﬁmm
“IoEEn TEgiTe sguatdl wEuTeT el Rdea ww swolnt watd o Tee Iated e
TN, AU TTSAT ITUThd HIE oo Ieith IR YehiedT INUHTE! THT SYATe 0T ST FHodma

Fd .
arbig ]

T wEubrRarE s fafge o a2 o f gyt snanT wrenE srgm o whemssa sHeEre
HiEaTE ST JaTa AW e, § A% Huwda Aet Sygirhe wa/uet, e we wwgieredte s s

HITATE TAEUTT eI FT ATAFT0 HIOTCaT! serite GUerdt, a8 whig HT00 g1 TR iy arvft et soman

A wEA A Heear | ufemed gromn fewern gy sxvamagaar sfafan-e2’ arda

T TafeTT FHET TOEAR HETE wUaE 93 § It sao! wUTe UE avien snararea snfun/ e el
T AR THAAT derean g ure gide.
mmm%ﬁﬁhmmﬁuﬂﬁmmwmwwwwﬁm




Z05 2
Heed| HTHTATS! W/ SPACE FOR ROUGH WORK



A 3 Z05

1. qEoeh) v weg geft’ an wegr wwmreft A7Et ?
(1) s (2) & (3) = (4) =guT

2. ‘Fere a1 urgeiiar e qEerehl SIvT Soad Sigd et TR 2
(1) F - JrgaeEs (2) nF - ArIaGHS
(3) e Jrseren g (4) I T

‘gg
(1) TR @ fwm (3) 3T (4) &

>

4,  TEAYH HUE YOG AR SRS WEEHTitG o, § e,

(1) e, g, e, I&hsa (2) W&, ToEhE, I8, fmA

(3) i, srmfen, el mew (4) WIS, HIawe, Naehi, Wit
5. ‘g’ ® @l w0 Wieaen IR ?

(1) T + Igeht (2) T + AT

(3) T+ 4) TR + T

6. fedren yatadie st st vaim faer.

(1) (2) @EER

(3) T (4) TEIeW
7. e andia yEmET YR .

‘T T e e

(1) wuHH FH (2) e wHof

(3) vy sHuvfy (4) o5 FHf

8. QL Weh @Y HT FeAd. A1 Ty ST o ?
(1) g-H T (2) FHH-TTE TR
(8) hY-uTa GohE (4) wpwoft

FoeT FHTEIS T / SPACE FOR ROUGH WORK P.T.O.



Z05 4

9.  yeiond o auammm 4R g wieg v ?
(1 X (2) *F (3) wd (4) <Ewm

10.  uRumEius Gamae SHIGaET Slven IV FsEa=T aTR gt ?
(1) T3, ¥d (2) temE, fepan
(3) wfi, gm (4) 3, smfor

11. ‘gua wfads vegd s g afEs wEurs %1 g,
T I AR IR TR B Esd ?
(1) THI9E giEdT gegd A0 8 THiES @Ee S AT
(2) THIIE IREEA TSGR I § JAfeRIeh TEU SR ATE.
(3) wuTIA uftgde 4 usdu g gifEs eI 1 TR,
(4) GHTTA REdR 98 T U § UfEe WEIE SR IR,

12.  aFa g el

e 0 L e
¥, 9 A . e fem
%. dRE e I e e
3. TR T v, vkigg s
xR F T
(1y 1III v I I
2 1v I. II I
3 1 v 111 I
(4) I v I II

13. qARN AU TEETRET U8 HIvET ?
1 g= (2) WSB! (3) W (4) =

14. @S Seveerdie yaif sotde Sive Gevee IOt SUst AR 2
S’
(1) 99 + 9l (2) o1 + Tt (3) % + Ul (4) =P+ Gdl
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15. U8 ‘IFd W uege wurnei v i . o vy fraer,
(1) Toaa, arew, o t, I=at (2) UTE, qerl, fokaa,
(8) 3rf, oM, a4, fowa (4) fo=g, v, w1,
16. S e womy @ vegEHgEdt geetdsh) shoran vata Iemma A ?
(1) =S (2) St~
(8) STy (4) Al
17, oo Wi am wieg Fasn,
(1) T (2) ¥R (3) el (4) @
18. YRRl v Terdie Yeg <t IMRd ?
(1) 3NEh, Tw, 39 (2) ¥3, 94, o
(3) AT, 3T, HivTeh (4) &, eI, T
19. e Reiear auidia memm avi .
#,7, 9,9 '
1 = (2 9
3y T (4) H
20. 1 FEEH I AY THAA T A ATA TR AU F@l. qT I HH Sl
(1) % ImeA w6 AH (2) e fFeE
(3) a1 FeAEEd T D (4) STE AN A
21, oo yeeriter sreeantt STeIETen YR 3.
‘W’
(1) Egar= (2) FrIdETEH
(3) TR (4) YrETEH
22. U RV IETETT HIEETES AN FNSATITERET ITET et 3R ?

(1) oATe TTEd e (2)  rmet aeft T Herwrd S
(3) WYl e gagen A (4) ISR A FET WU, FH
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23.

6
‘TRt AgreE, Awfam moft Tre.” A e HH SR 9T e YRR gise ?
(1) Yo HETead, 79w T,
(2) Yot TG aFT Tfe Troft e,
(3) YR HERad Afa Teft T SR,
(4) TOEAH THE T

A

24.

TR I ‘sraftarees Siearas fear-faewe’ s 2
(1) feodl feag 4<h aeaw 1= (2) ugfor el ged 2.
(3) =l = I8 oA, (4) Ot ShaeT TR AT A,

25.

Wit T HIT THIET 3T 2
‘Q’
(1) —8& & (2) b= (3) wYF W (4) @

26.

Srearr 99 w1ty fae,
3}, A L
9. 9d II.
*. A& I1I.
3. Iv.
A | ES g
(n v I I 1
2 I m I v
(3 I I v II
4) 1 IT1 II v

§7%9%

27.

AT, SATHT, ITHYT A7 ISy e 399 JEerdehl wivreen Aufardt s Ia 7787 ?
(1 gt (2) U (3) wid (4) vefswe

28.

Ue WS Yoo 9 TR Selel! UTqie et oed. I v e
(1) usE, @, TErs, udbh (2) @, de, Woftg, uférn
(3) T, T, FaufiE, Al (4) wiadgsy, o, ToF, THS
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29, I BN W Thd-ATHY FUEIER 3 A8 ®IG T/ 343 AP ?

(1) ==, &, ™ (2) T, Wy, gn

@) frgw, o, ¥ (4) WYL, T, 3

30. fediow yaiaig wast =ioH it
(1) w (2) =
3 « 4 =

81. Tedew g fhamem THR AieEr.

‘arge geften =g feer.”
(1) i frmg 2) 3Ivafay framg
(8) e foramg (4) Taamge
32, ‘Tarsh mgrm e wavsareh woy gaeft, § oM s gafavaE A
FOE T BV FHRS 3R ?
(1) Tz ey
(2) OHEIEIYS GYFT AT
(3) ity Tgad 9T
(4) g I
33. CASIgE GYFTAE AR HIAHT HIAT I FEIE AR FAl ?
) st a (2) areEn, fwan
(3) I, Iy (4) ¥EH, ged

84, ‘FEA I7 IEer=l AT FEe e HIvET ?
(1) ot (2) faf=
(3) 3wy (4) T

35. HeHauHie ST SEUR TUST WIsg SN,
(1) IRV, IFEh, A, Famh
(2) YEATeSl, Fihad, WIS, Hdehad
(3) Fremew, IeygE, YEHG, eud
(4) IfimE, Eam, wE, afas
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qifzearET TE AT A= RN haw TRl HTeIdd el ShaTeARdal foeR e,
Hifgerpdt € Felaaia FATER FE, Y TEUET I ¥ W, W N Helee], Difgs TR
91 TAHEIH GATEAR I3 e T AT, A1 Shellaqe GATER siarse TR gidr.
AT HATSA FIAHA ITEWT SieoAEH 30 T 8 W ma. ot weatiie wud
Hfaadt ol weern wuw fain Feft . T8 @ weafafifd= vl wHmEr ST T
Tl M. Ay FlREe HuEgd, WS, Hewt Fanearen Rffden devfadt s@a
TRUAT IVERE AR, S WG Uk IS S 3T 3 WE IR, a9 Jeg W,
WY=ATER Heraq Fmio @ dt o 3 w4 fafie s wm st eifgeren @ weeme
qifgeTen TR 37T YT g0 sruftgra o, sehid Fmin Ferelt seew] wH TEt
TS I BId. AIfEcaT=AT ATATeieh = BT ST § WTEeATAt TTHIRY Ueh 3 3718, 379l
AT fafie aeeTe A e WS F e 9T, ek, Hieehdl 3
T A1 FateaT aevidicl aTTiorhd WEY 3501 NIH T8 & IeH),

qEF TEvS AigeEd e aar smumh erehl. anfgeamen fomm war T
whrwrae o s foeR i a3t aree ol sfawEd ST & bl fafire s
U USH I & TEEr A A1El; i e whl 9 T Jer genidia T T AEeRTeAT
Tefadl Iufeqa em I, HIE ToheT H@d! ST AIVETedT Henla atiehel reect I aer &
I U W AR, A TR ST A A R I, SAhrl gEgE @ A9
sehierE It W, WaEsHE e Fofg sahien ThequIe S9SN, deal SAhi
3 THYYT G TR, g SIS Ak A1 SR A0 SAI07 S0 AT ST HIF HHNR STET.
SRAe T gEg:@r, udedn Jmrn fomr st g amities wfomn s B
T VT TRV SARAIY WA S WIWINh STE, 3% TEUIEd d1ed. SARhi Weheuw My
frht amfimar o1 el Tt T e e deuTE S S dne g
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36. wnfeaden aiom Fomet g ?

(1) He (2) T&ETaR

(3) =IHIER (4) THNER
37.  wUd Sy vew gt wioft i et 2

(1) wit dare wean (2) Y& HATEAT HAH

(3) Harear farsam (4) warear weafdd
38. TANINE Uesh SV IFTTATT ?

H. HAEd I 1w

. ANE €. W

(1) %ad A 2 {99, %,

(3) wFA 4) $HE
39. udw fyum arm O @ vl fasrn

. oEH IS Hifgcataiidt s smar qaee sred.

3.  wfawrEd =aedid Ghn oo 9o s,

. Tt Sqadt HHTSE Gk THA.

(1) %o of s (2) wed & FUN

(3) T & WU (4) ¥ I, H AR
40. I SiEEreAT AR SIEY I i Fae.

H. SIHIE TRl

&, UF el AT U TEH
. fgearst s

T, U SFh! AT HWH
(1) aa 7 AN

(2) =1 3for § sl

(3) wEd & T

(4) Fud T S
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41. Find out the mis-spelt word from the following phrase :
“An agressive bizarre businessman”
a b c d
(1) a (2) b 3 c 4y d
42.  Joya said to the girl, ‘Why are you crying 7’
Point out the correct indirect narration.
(1) Joya said to the girl why she'is crying.
(2) Joya asked the girl why she was crying.
(3) dJoya inquired of the girl why was she crying.
(4) dJoya asked the girl if she was crying.
43.  He had the nerve to face robbers all alone.
Choose the word nearest in meaning to the word underlined.
(1) strength (2) capacity
(3) audacity {4) courage
44.  Shakespeare’s Gertrude shed crocodile tears over King Hamlet’s death.
It means
(1) Gertrude expressed her deep sorrow for King Hamlet’s death.
(2) Gertrude deeply lamented over the death of King Hamlet.
(8) Gertrude pretended to grieve the death of King Hamlet.
(4) Gertrude wept a lot for the loss of King Hamlet.
45.  The Sun having risen, the fog disappeared.
Identify the type of sentence.
(1) Simple (2) Compound
(3) Complex (4) Complex-compound
46.  She will have sung a song.

Pick out the correct passive voice of the sentence.
(1) A song will be sung by her. (2) A song will have been sung by her.
(3) A song will be singing by her. (4) A song would have sung by her.

Foeq] HETAS! SIRT / SPACE FOR ROUGH WORK
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47. They awarded her the Nobel Prize for her social work.

Point out the incorrect form of passive sentence.

(1) For her social work, the Nobel Prize was awarded to her.

(2) The Nobel Prize was awarded to her, for her social work.

(8) She was awarded the Nobel Prize by them for her social work.
(4) None of these is incorrect

48. Ifour are healthy in mind, they will treat our daughters properly.
Which of the following alternatives is correct ?
(1) Sons-in-laws (2) Son-in-law
(3} Sons-in-law (4) Son-in-laws

49. Identify the mood of the verb underlined.

Behold the dreamer comes.
(1) Imperative (2) Subjunctive
(8) Infinitive {4) Conditional

50.  Which of the following sentences reflects the polite form of request ?
(1) I shall be grateful if you allow me to use your bike for five minutes.
(2) You can allow me to use your bike for five minutes.
(3) Would you mind using your bike for five minutes ?
(4) Will you allow me to use your bike for five minutes ?

51. Point out the correct sentence.
(1) The teacher of Geography hanged the map of India on the wall.
(2) 'The teacher of Geography hung the map of India at the wall.
(3) The teacher of Geography hung the map of India on the wall.
(4) The teacher of Geography hanged the map of India over the wall.

52.  True lovers stick to each other through thick and thin.

The meaning of this statement is

(1) True lovers cannot forget each other under any circumstances.

(2) True lovers are faithful to each other when they are thick and thin.
(3) One of the true lovers must be thick and the other thin.

(4) True lovers catch each other while going through the crowd.

HTegT HHTEIS! SR / SPACE FOR ROUGH WORK P.T.O.
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53.  The serious disease Small-pox nowadays has gone with the wind.
The meaning of this statement is
(1) The terrible wind has spread the Small-pox disease everywhere.
(2) The serious disease Small-pox has widely spread the world over.
(3) The serious disease Small-pox has completely disappeared without trace.
(4) None of these
54. He is always picking holes in every project.
Pick out the correct meaning of the phrase underlined.
(1) Asking irrelevant questions on (2) Suggesting improvement in
(3) Finding fault with {4) Creating problems in
85. In the desert the of water is as precious as gold.
Pick out the correct alternative to complete the sentence.
(1) draft (2) draught
(3} drought {4) drauft
56. Pick out the correct word-group where the words are spelt correctly.
(1) predecessor, hierarchy, mathematics, lieutenant
(2) predecessor, hierarchy, mathematics, lieutenent
(3) predecesser, hierarchy, mathematics, lieutenant
(4) predecessor, heirarchy, mathamatics, lieutenant
57.  Although he is expert, he is still incompetent.
Identify the type of clause underlined.
(1) Adjective clause (2) Noun clause
(3) Adverb clause of contrast (4) Adverb clause of purpose
58.  “To follow his advice seemed logical.”

The subject of the above clause is
(1) Infinitive (2) Adjective
(3) Adverbial (4) None of these

FoedT HHTATS! IR / SPACE FOR ROUGH WORK
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59. The ancient Greeks more by conversation with teachers than from books.
Complete the sentence choosing the correct alternative.
(1) study (2) have studied
(3) studied (4) had studied
60.  The boys fled in great haste, for they a snake.
Complete the sentence choosing the correct alternative.
(1) have seen (2) have been seen
(3) saw (4) had seen
61. I Tlost my spectacle in the rain.
II. Her clothes are quite fashionable.
Pick out the correct sentence.
(1) Only1is correct (2) Only II is correct
{3) BothI and II are correct {4) Both I and IT are incorrect
62. Heis painter of the day.
Pick out the correct article to complete the sentence.
(1) a (2) an
(3) the (4) No article
63. You should be a salesman, you have the gift of the gab.
Identify the correct meaning of the underlined structure.
(1) A good personality (2) Atalent of acting
(3} A talent for speaking (4) Determination
64. There is no love lost between them, even though they are brothers.

Pick out the correct meaning of the underlined idiomatic phrase.
(1) Intense dislike (2) Cool indifference

{8) Close relations (4) Love-hate relationship

Hoeql HHTTSE 9T / SPACE FOR ROUGH WORK P.T.O.
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65. If you speak the truth, you will never regret it.
This sentence is
(1) Simple (2) Compound
(3) Complex (4) None of the above
66. Point out the éentence that has the correct use of tense.
(1) I was getting up at 5 o’clock every morning.
(2) 1Igotup at 5 o’clock every morning.
(3) Iget up at 5 o’clock every morning.
(4) Iam getting up at 5 o’clock every morning.
67.  Select the sentence that has the correct punctuation marks.
(1) Are you afraid of fat dogs ? Yes. They horrify me.
(2) Are you afraid of fat dogs ? Yes ! They horrify me.
(3) ‘Are you afraid of fat dogs 7 Yes, they horrify me.’
(4) ‘Are you afraid of fat dogs’ ? Yes, ‘They horrify me’.
68. An atheist is the one
Pick out the correct alternative to complete the sentence.
(1) who believes in God (2) who does not believe in God
(83) who loves mankind (4) who knows everything
69.  Which of the following sentences has a meaningful word order ?
(1) To do all is Sonu wants help.
(2) All help is what Sonu wants to do.
(3) Sonu wants to do is all help.
(4) All Sonu wants to do is help.
70.  Point out the sentence in which a conjunction is wrongly used.

(1) Even although the people were poor, they seemed happy.
(2) In spite of their poverty, the people seemed happy.

(3) Despite their poverty, the people seemed happy.

(4) Although the people were poor, they seemed happy.

TSN SIS AFT / SPACE FOR ROUGH WORK
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71.  Rice is not more nutritious than some other grains are.
Identify the correct positive degree of the sentence.
(1) Some grains are at least as nutritious as rice.
(2) Very few grains are as nutritious as rice.
(3) Some grains are not less nutritious than rice. ‘
(4) Rice is not more nutritious than some other grains are.
72. a. Some of the TV serial is worth watching today.
b. Some of the TV serials are worth watching today.
¢.  None of the TV serials is worth watching today.
d. None of the TV serials are worth watching today.
The grammatically incorrect sentences among these are
(1) aandd (2) aandb
(83) candd (4) bandec
73.  Most of the rich always look down upon the poor in India.
Which of the following statements is not appropriate ?
(1) Most of the rich in India always despise the poor.
(2) Most of the rich in India dislike the poor and do not have respect for them.
(3) Most of the rich people always hate the poor people in India.
(4) Most of the rich, from their tall buildings, look at the poor walking down on the
streets in India.
74.  The members of the underworld are ever engaged in the rat-race.
Which alternative denotes the correct meaning ?
(1) All the members of the underworld arrange the rat-race.
(2) The poor rats are tortured by the members of the underworld.
(3) All the members of the underworld are involved in the dirty and detestable
competition in order to succeed.
(4) All the members of the underworld are busy harming each other.
76.  There is something repulsive about the way he handles people.

Choose the word opposite in meaning to the underlined word.
(1) Attractive (2) Smooth
(3) Reflective (4) Distinctive

Foea] HHTHIS TR / SPACE FOR ROUGH WORK P.T.O.
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Comprehension Passage for items 76 to 80.

Read the following passage carefully and answer the questions given below it :

It is hateful to have to refer to this past history, but the spirit behind those
events did not end with them. It survived, and whenever a crisis comes or nerves

give way, it is in evidence again.

The World knows about Amritsar and Jallianwala Bagh, but it does not know
of much that has happened since the days of the Mutiny, much that has taken place
even in recent years and in our time, which has embittered the present generation.
Imperialism and the domination of one people over anocther is bad, and so is
racialism. But imperialism plus racialism can only lead to horror and ultimately to
the degradation of all concerned with them. The future historians of England wili
have to consider how far England’s decline from her proud eminence was due to her
imperialism and racialism, which corrupted her public life and made her forget the

lessons of her own history and literature.

Biologists tell us that racialism is a myth and there is no such thing as a
master race. But we in India have known racialism in all its forms ever since the
commencement of British rule. Indeed the idea of a master race is inherent in
imperialism. There was no subterfuge about it; it was proclaimed in unambiguous

language by those in authority.

More powerful than words was the practice that accompanied them and,
generation after generation and year after year, India as a nation and Indians as
individuals were subjected to insult, humiliation, and contemptuous treatment. The
English were an imperial race, we were told, with the God-given right to govern us
and kept us in subjection; if we protested we were reminded of the ‘tiger qualities of
an imperial race’. As an Indian, I am ashamed to write all this, for the memory of it
hurts, and what hurts still more is the fact that we submitted for so long to this

degradation. (321 words)

HEeYT HHRITS! SIATT / SPACE FOR ROUGH WORK
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76.  Which of the following sentences is correct ?

{1) The author appreciates the imperialism of the Englishmen in India.

(2) The author dislikes the imperialism of the Englishmen in India.

(3) The author takes delight in writing about the relations between the
Englishmen and the Indians.

(4) The author takes pride in telling others what the Englishmen did in India.

77.  During their Raj in India, the Englishmen treated the Indians with
(1) insult (2) contempt
(3) humiliation (4) All of these

78.  Which of the following statements is correct ?
(1) Master races are created by Nature.
(2) Some races are created inferior by Nature.
(3) Some races are created superior by Nature,

(4) None of these

79.  The passage highlights the degradation of
(1) the whole human race.
(2) the Indians alone during the English Raj.
(3) both the Englishmen and the Indians.
(4) the Englishmen alone during their Raj.

80. The author’s attitude to life is
(1) historical and literary.
(2)  historical and racial.
(3) imperial and racial.

(4) humanistic and nationalistic,

THEEYT IS ST [ SPACE FOR ROUGH WORK P.T.O.
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81. OIS INTH GTHTHUSAT 4T A g T HEH .
3. gANA VTSR FHereRvil ¥, U Mifdg faw
%,  grg et T HSNd §IH
(1) & ¥ AT % (2) ad & IV
(3) e A, o MU E (4) &1, 9 Hfrs
Krishnaji Prabhakar Khadilkar’s collaborators in the Nepal Plan were
a. Hanmant Annaji Kulkarni b. Ranganath Govind Tikhe
c. Damu Joshi d. Bandopant Ruikar
(1) aandconly {2) canddonly
(8) a,banddonly ' (4) a,b,candd

82.  fTurgronsht weftra sroeear ol frgurar’ @ wivft faria e g 2

(1) g e (2) wETH Fo

(3) wafd fe (4) —armfd T3

Who had opposed the ‘Filtration Theory pertaining to education ?
(1) Dr. Ambedkar (2) Mahatma Phule
(3) Maharshi Shinde (4) Justice Ranade

83. 1857 =41 33@1d
&, FAEgeel GH, fadrd @F, 797§ F1E @[ 3 el @ I B el
9. TR a1 iR S s e
%. T argelt 0 e fafden weft feeft.
(1) 37 3nfor 9 g aned, & S A (2) 1 It & SO 3T, & TH 3
(3) = 3T % Y IR, T UK IR (4) o mf &% S TRA, 7 TH AR

In the Revolt of 1857
a. Inayatullah Khan, Vilayat Khan, Nawab Kadar Khan and Deedar Khan were
hanged.

b. Landlord called Bapurao was hanged by the British.
¢. Rango Bapuji Gupte was hanged by the British.
(1) aandb are wrong, c is correct (2) aand b are right, ¢ is wrong

(3) b and c are wrong, a is correct (4) b and c are right, a is wrong
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84, IS T TSN HITHATER S1ET
. el - 3 R
. T G o g
F. O S TR S Taw
T Taw e Yol sem
(1) #1,8 %,9 (2) #,9,%,3
3 {89, (4) 3,4, 8,9
Arrange the following events in their chronological order :
a. Gandhi - Irwin Pact
b. Death of King George V
c. Japan entered the Second World War
d. Mutiny in Royal Indian Navy
(1) a,d,c,b (2) a,b,c,d
(3) a,d,b,c 40 a,ecdb
85. ? Tt it Sem 3.3, 39 Shifefn few dvam 19, wWg 99 T o
i wRE a1 shifepit HEeA Ja et
(1) 9Ig WERa ame (2) 3TYd FBaa Flegehl
(@) o morr e (4) vl g
went to UK. on a government scholarship to study engineering but
there, he joined the revolutionary group — Abhinav Bharat.
(1) Pandurang Mahadeo Bapat (2) Achyut Balwant Kolhatkar
(3) Vishnu Ganesh Pingle (4) Shyamji Krishna Varma
86. YWS WEUN guTEl YRES] HUIAT HHET (egardiel Iqw=aM1, gu= SqH] AGeHTel HEad

TR I F1eet TR o 71 U Iehe, 3 3 Fegardial €19, wea arvaErd e

(1) g M (2) Bt 3|

(3) WER wed (4) <. =gffa Fl

Peasants of the Karia district, which supplied milk to the city of Bombay (now
Mumbai), felt cheated by milk traders and approached , the nationalist
leader who hailed from this district, for help.

(1) Mahatma Gandhi {2) Morarji Desai

(3) Sardar Patel (4) Dr. Verghese Kurien
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87. firg foree arorFe W TR i<t fran e FEv o eh,
(1) seAd wofieres (2) ofiHa TEHETS haeeht
(3) awng e (4) dfsar wEE
Shahu Maharaj appointed as the education officer after Miss Little.
(1) Indumati Ranisaheb (2) Shrimanta Rakhmabai Kelavkar
(3) Tarabai Shinde {4) Pandita Ramabai
88.  amyfiw =T shwTEeT S wath @3 e g o a2
(1) fra @ st (2) THA I8
(3) &= gl (4) T SEA
Which was the biggest peasant guerrilla war of Modern Indian History ?
(1) The Kisan Sabha Movement (2) Moplah Revolt
(3) Deccan Riots (4) Telangana Movement
89. W UHH TgH, T HedT ST W1 TA TrSATd HION TS FHAH TR 2
(1) @ ToaEeT MHaE THeaTagEa e Helt
(2) = femmendt wan AagraeT anmf eft
(8) @ g Aikdie e g
(4) R ‘Twe @ w1 & gielaves seaa fafgen
What is common between Begum Aizaz Rasul, Hansa Mehta and Renuka Ray ?
(1) They criticized the Constitution for not following Gandhism
(2) They asked for separate electorates for women
(3) They were members of the Constituent Assembly
(4) They authored the report called ‘Towards Equality’ which dealt with women’s
liberation
90. gFIAIE eEl
(1) e g SRR — g
@ i o HEe —
(3) wit gtk Hgen — 4=

(4) wigen zaran wiafy — e

Find out the wrong pair.

(1) Progressive Women’s Organization — Hyderabad
(2) Purogami Stri Sangathana - Pune

(3) Stri Mukti Sangathana - Mumbai

(4) Mahila Dakshata Samiti - Kolkata
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91. Erelid o ST GRS SR ¢
H, I SAWH AT Y Ewd

¥, IO W AT YN 3TEesd

%. digw g=ars v et e

3. ofcyfufem snftr St arh g0 sTewad

(1) g (2) A gar
(3) wmnft (4) ey fsfa e

Which soil has the following properties :
a. Found in the humid climate area
b. Found in the high rainfall area

c. Low ratio of organic matter

d. Aluminium and Manganese compounds are seen in it

(1) Regur soil (2) Red soil
(3) Laterite soil (4) Sandy soil

92. WA faum v -
3. aﬁwﬁﬂm%%mmﬁaﬁwmm.
q, ST HE IETTHET gfior S favmT s Tew vsdl,
%. ufvem 9 faymma et faammen s uew g

(1) aq faum 31 s R (2) waFd fouE 9 et oM
(3) faum 31 snfr ¥ == smEw (4) Trar @ anftr % |0=x Ia

Observe the following statements :
The Konkan region receives 94% of rainfall from south-east monsoon winds.
b.  The south Konkan region receives more rainfall than the north Konkan region.

c. Western Ghat section receives less rainfall than the coastal section.

(1) Only statement a is correct (2) Only statement b is correct

(3) Statements a and b are correct (4) Statements b and ¢ are correct,
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93, wrelteshl v faem/faun et T

<
T,

.
(1)
3)

T YT AeHgE SR TS SHT H IR,
HIA Y& FEESYET Y WS FHHT el

HENISAT $T=1 HIT 971 HIEH a9y 9139 9S4l

Hd faum &1 (2) ww foum
% faa= & (4) fqam &1 snfr =

Which of the following statement/statements is/are incorrect :

a.
b.

c.

(D
3)

The windward slopes of the Sahyadri mountains receive less rainfall.
Mahabaleshwar receives less rainfall than Amboli.

The north-eastern part of Maharashtra receives rainfall from north-eastern
monsoon winds.

Only statement a (2} Only statement b

Only statement ¢ (4) Statements a and ¢

94, HENE 2011 <& FH YA FH deiad Aded e e wive 3med ?

(1)
(2)

eRrdreht anfir 4
T ST AR

(3) fémeh anfr ya
(4) grEw emfor Tt

As per the 2011 Census, which two districts in Maharashtra have the lowest literacy
levels ?

(D
(2
(3)
(4)

Gadchiroli and Dhule
Dhule and Nandurbar
Hingoli and Dhule

Nandurbar and Gadchiroli

T BIETATS! ST / SPACE FOR ROUGH WORK



A 23 Z05
95. Weileideh! HENeRIe Hivg frer e vgamy Iaid ?
A RO TR

q. g T AR
%, w3 smued

g, IENEIR g O

(1) ¥
(2) Fafrs
(3) wafre

(4) A, FMOH

Which of the following districts in Maharashtra come under the rain shadow zone ?
a. Parbhani and Ratnagiri

b.  Dhule and Solapur

c.  Gadchiroli and Amaravati

d. Ahmednagar and Pune

(1) bonly
(2) aandb
(3) bandd

(4) a,bandc
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96. N el el

772 I et 1
(%) (771)
A wigr e I WeER —
¥ fanar I g - s
F. A AR III. 99 — |&R
g WERH R IV. STyl - sl
A C < =4
(1 I 1 I v
2 Iv 11 I I
3 1Iv I i} 111
(4 III 11 v I

Match the List I with List II and select the correct answer from the codes given

below :
ListI List IT
(Ghat) (Road)
a. Fonda ghat I.  Kolhapur — Ratnagiri
b. Diva ghat II. Pune - Baramati
c. Amba ghat . III. Pune - Satara
d. Khambatki ghat IV. Kolhapur — Panaji
a b c d
(1) 1III II I v
(2) IV II I ITT
3) IV I I1 III
(4) III I v I
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97. @9 2014 Ra FER@ v foramme w € Rl anfis & (SEZ) swifad wrie T@ ?
(1) =iw0
(2) 3fTET
(3) =il

(4) AT

Up to the year 2014, in which division of Maharashtra was not a single Special
Economic Zone (SEZ) executed ?

(1) Konkan
(2) Aurangabad
(3) Nashik

(4) Nagpur

98.  TEUTURIIY I TEUET TS ATTHHIG U2 Bd. B HIOTeAT qraTeun=a1 faumma mged A ?
(1) qw=t
(2) TB
(3) e
(4) <R

There is a general decrease in temperature with increasing altitude. In which
atmospheric layer is it observed ?

(1) Troposphere
(2) Ionosphere
(3) Stratosphere

(4) Exosphere

HERT HHIWIS ST / SPACE FOR ROUGH WORK P.T.O.
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99, SIS AET :
an | TG7 TAE Gk
. WNER a[ I. %R
§. 98 Ug vER II. TSR =S
R B R 1. 3 yarg
e ofwrfar Iv. uafm
3H q * =
1 1 v I III
(2) III I v I
3 1 II III v
(4) TIII II I JAY
Match the following :
Winds/Ocean currents Name
a. Strong wind I.  Labrador
b.  Cold ocean current II. Roaring Forties
¢.  Warm ocean current HI. Jet Stream
d. Westerly winds IV. El-Nino
a b c d
1) I 1AY I III
(2) III I v II
3) 1 IT I v
(4) III II I v
100. TR TSI TS WO Geqr=AT Heufdier faum a8
@1, e fwer 34 IRA.
¥, TR vieg 226 ATrd.
F. HEFR giferst 25 e
(1) % e 31 F0et o (2) Taum a7 anfor 9 s mEa
(3) fagm &1, 9 anfvr % SR ImRg (4) Tqum 5 anfer & sOeR emRa

Observe the statements regarding local government bodies in Maharashtra :

There are 34 Zilla Parishads.

There are 226 Municipal Councils.

a.

b.

" ¢. There are 25 Municipal Corporations.

(1)
(3)

Only statement a is correct

Statements a, b and ¢ are correct

Statements a and b are correct

(2)
(4)

Statements b and ¢ are correct
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101. guFa=AT IREwEsht et Sieen @mEn.

il g
A 14 I vt st
T 16 II. FEEUEIR Ea
® 17 1. sregar Fam
T 18 V. adafs FedamEd gum st
= g faer.
= I % 3
1O o1 w1 I
2 1 v I I

@ 1 Im I v
4) IV II III

o

Match the pairs related to Right to Equality.

Article Provision
a. 14 I.  Abolition of Titles
b. 16 I1. Equality before the Law
c. 17 III. Abolition of Untouché.bility
d 18 IV. Equality of opportunity in the matters of Public Employment

Select correct code.
a b c d
(1) I v 1 IiI
2y 1I v III
3 I III II v
4) Iv II 111

=l

b
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102. TSIOAd aUqal & ST JTHEATY ATeTeld e ol

3. TSR AR I mafe gsgee
. Tl AamfererEt uga 1. $femm Tsa"e
F. TS g I SO II1. i Tsee
3 EdEl s uga IV. 4.5, T=gedl

H o Ed g

(1) 1 II III v
(2) 1 v I I
(3) I IV i1 I
(4) IV III I 1I

Match the pairs with regard to provisions of the Constitution and their sources :

a. Preamble 1. Irish Constitution
b. System of single citizenship II. Canadian Constitution
c¢.  Federation with strong Centre III. U.S.A. Constitution
d. Method of election of the President IV. UK. Constitution
a b c d
(L I I 11T 1A%

2) II v I II1
(3) III v II I
4y IV I11 1 I

103. YOG U TS FGUST HEI TUTHT HATH q @Ha T
TSI ST
(1) TSeT ST wey wew (2) iy wew AT 9iTEw s
(3) TSTEIM 30 Y Tew (4) Ny YW ST TS
Panchayat Raj form of local self government was adopted first by and then

(1) Rajasthan and Madhya Pradesh (2) Andhra Pradesh and West Bengal
(3) Rajasthan and Andhra Pradesh (4) Andhra Pradesh and Rajasthan
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104. Freeiri & fegr Jomgamr yqw =muE Yite Seedl. Greftetdl S it <
IR, IIETSAT ANTETe ?

A, Toegaman wemEd aTfeerl . fog Tege st
%. foesr gerfusrd 3. foeer fatem st
3. e fesr wiafash

(1) AIT4q9 ' (2) ST, FIS

(3) ®FAAN, HTE (4) SHHAIS

District Collector is the head of the district administration. Which of the following
duties does he perform ?

a. Administrative officer of the district b. District Revenue Officer
¢.  District Magistrate d. District Election Officer
e.  District representative of the government )

(1) atoeall (2) Onlyb,candd

(3) Onlya,candd (4) Onlyatod

105, TTHUNS HEE HIV IEA ?
(1) W verd Fag sroet wee
(2) 18 a8 T wrectedn wd =
(8) T gl T AAGR
(4) WYL, IUEE 3 T qEEde Hagd oo wd a5

Who are the members of Gram Sabha ?

(1) Elected members of Gram Panchayat

(2) All persons who have completed the age of 18 years
(3) Registered voters of the village

(4) Sarpanch, Deputy Surpanch and elected members of the Gram Panchayat
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106. @R fum wema =
HRATd N HaREeida ggich Yoh 3
3. U9 TR gR AR T Mdl et I,
w. e fafEr $eer e AmE).
Fierh For/sior faam/fa faaes o 2
(1) FIIIIA 2 97N TR

(3) Had H 4) wFa
Consider the following statements :

In India, Stamp duties on financial transactions are

a. Levied and collected by the State Government.

b.  Appropriated by the Union Government.

Which of these statements is/are correct ?

(1) Bothaandb (2) Neither anorb
(3) Onlya (4) Onlyb

107. TS Ty SEEerEET e e

T FITECT
A HEW I a7 foem des wnyoeEy
A 1 IL  SHST gereal FreATEmEd
®. oS 1. vsardier S S SemeATETsa
3. HEWY IV. TS #Eel 4 goqeacadsd
H L] 3 g
(1 1II Im 1w I
2 1Iv 111 II I

3 I II II1 v
4) 1 III v II

Match the pairs with respect to special responsibilities of Governors :

State Responsibility with respect to
a. Assam I. Establishment of Separate Development Boards
b. Manipur II. Administration of the Tribal areas
c. Nagaland III. Administration of the Hill areas in the State
d. Maharashtra IV. Law and order in the State
a b c d
(1 1II Im 1w I
@2 v m I I
3 1 IT 111 v
4) I 11 v IT
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108. = itk onfir s FreTEd @ieiiedh B faue e 77Et ?
(1) T Toarear geEArst syen faffemen yaemwedt it mifedt wredier &t 3
T
(2) o TR W el e amdiE doesier TEHa WEl U wRiE A,
(3) 3 wETen VR ST JUATE WO WehaTd 19T § W1 AR S8 e TRl
(4) weTeHEgE faftnies Hew TEUT=ATE PRl S R STSUS] AT
Which of the following statements about the role and functions of the Chief Minister
is not correct ?
(1) He furnishes to the Governor such information relating to the administration
of the State or proposals of legislation as he may call for.
(2) He acts as the sole channel of communication between his Ministers and the
Governor.
(3) He may advise a Minister to tender his resignation or he may dismiss a
Minister.
(4) Constitutionally a non-legislator does not stand barred from becoming a Chief
Minister.
109. TSHYImT=a ARIgh TeaeaT Heuid Hy@ [§u v o ?

. TnigEe T AR TegERAAT Wishree e

. 9199 qwre BEY My .

®. @ o HeA=a 5S4 AT GEIEE TR,

B, I T STEAEU] THTal SEThE IR,

¥, Arepurden g g A1 YT el FRUGES cHiET Guiesl U ST AR,
(1) 93 2y A, +83

(8 F,9,FaF 4) @

The correct statements about the Directive Principles of State Policy are

a. They are borrowed from the Irish Constitution.

b.  All of them are Gandhian in nature.

¢.  They are incorporated in Part V of the Constitution.

d. The State must compulsorily implement them.

e.  They seek to provide social and economic base to democracy.
(1) aande (2) a,cande

(3) a,b,cande (4) All
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110, TsaTETe HeMia Wrdiatshl st e @l amea 2
H. TS HREE G TSI g 3.
q. TSNS STt 35 9% YUl 3rHM eI .
®. gt g9 R TSI g g Wil
T USIYCE YEaeA 950 HUgTEEadl T Tsa=eid Feiet 373,
(1) «F, danfig (2) oA, 930 F
(3) o1, ®Hanrg (4) 1,9, % afrs

Which of the following statements are true about the Governor of the State ?
a. The executive power of the State is vested in him.

b. He must have attained 35 years of age.

c.  He holds office during the pleasure of the President.

d. The grounds for his removal are laid down in the Constitution.

(1) a,bandd (2) a,bandc

(83) a,candd (4) a,b,candd

111. GRAEIH HvT ATTEI qear=] e T TSIeea TeAgeRiigR HuaTd e T8 ?

. VIS S g g9 S i a1 § 9= Shagee wer w.
1) &,9,® (2) 9,%,8
(3) =i (4) #H,%,3

Which of the following Directive Principles are newly added in the Constitution by
Constitutional Amendment ?

a. Equal opportunity for justice and free legal aid.

b. Equal pay for equal work for both men and women.

c. Participation of workers in management of industries.
d

Protection and improvement of environment and safeguarding of forests and

wildlife.
(1) a,b,c : (2) b,e,d
(3) bandd (4) a,cd
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112, Grelath S fagm/faam gehe sm ?

. ‘Adjournment’ TEUS HAHTIETS FHHHS A H01.

§.  ‘Prorogation’ TgUS HHFJETE! sR@.

F. ‘Dissolution’ TS TUREHT ST@R.

3. ‘Prorogation’ T8 SATRESMATR & waTHl

(1) saq 2 3 & 4 s

Which of the following statements is/are incorrect ?

a. Adjournment means an interruption in normal business of the Assembly.
b.  Prorogation means the end of the Assembly.

¢.  Dissolution means the end of the Assembly.

d. Prorogation means end of a session of the Assembly.

(1) aandb 2) b 3 ¢ 4) d

113. Fg-Usy Iue qegEEa el @7
W eIz 248 1. oW Fan sife Tewieniien wie Sud Rrffm woam
T AR
9. =S 249 11 anfreviif SgEivon Wi sra TegEide S Srdihedt
fafufem s gag=n srfvsr
%, I=eg 250 I Ui R ueeEide adtdedt fafifem somn s
PR

g weg 252 IV, oraf frwmemsa fafufem s gadEn sttew
' Cl ED g
(1) IV IT1 II I

2 I II III v
3 I 1V I II
4y 1 I IAY III

Match the pairs with regard to Centre-State Legislative relations :

a. Article 248 I.  Power of Parliament to legislate for two or more States
with their consent
b.  Article 249 II.  Power of Parliament to legislate Wlth respect to any

matter in the State List if a proclamation of
Emergency is in operation

c. Article 250 III. Power of Parliament to legislate with respect to a
matter in the State List in the national interest
d. Article 252 IV. Power of Parliament to legislate with respect to

residuary subjects
a b c d

(1 IV III II I

(2) I I ITI v
3y I 1V I IT
4) II I v 111
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114, e @& |

3. T A e oY S 99 SeehiEe .
e & G e

¥, TE SuiiT HH SErAT St II.
WRISE STeRTIEed grHTes ATOr
Tragor = i awqg

%. TEl-fie e gyeer 981 8 = ITL.
TV TS 39 fehal e
Irer el wfy 20

8. Togor € s enfor usa e Iv.
EEICHIVECIE

H q Eo €
(1) I II I v
(2) 11 I v I
(3) I H I v
(4) III v II I

Match the pairs :

a. Free and compulsory education to all
children of the age of six to fourteen years

b.  Provision for early childhood care and
education to children below the age of six years

c.  Parent and guardian are to provide
opportunities for education to their child or
ward between the age of six and fourteen years

d. Education is the responsibility of both the
Central and State Governments

a b c
1 I I IiI
(2) I 11 v
(3) III I I
4 1III v I

e freqor =1 o guadt
gfidier g

kS SR ST

HTiEste

I. As the subject of education

is in Concurrent List

II. Fundamental Duty

JII. Fundamental Right

IV. Directive Principle

FEedT HTHTHIST S / SPACE FOR ROUGH WORK
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115. Wreliedh! Hivd T Gaded gFpmed’ I ?

. GH AT AN A FRUEEA TSATRGT HGWE 7 !

. HEUE G SE0

%. UM HMEEd 99 a9

8. USPETEd @9 |y

(1) ,9,%,3 (2) 1, %, 3
(3) A, 4 A,9, 38

Which of the following principles come under the ‘Right to Equality’ ?
a. Non-discrimination by the State on the grounds of religion or race
b. Equal protection of the law

c.  Equal pay for equal work

d. Equality of opportunity in the matter of employment

(1) a,b,c,d (2) a,cd

3) a,d {4) a,b,d

116, <if&’ smammETea Siesn @rEr -

A, I9eAy I g=ayg

9. T FEE Afwd I, i el

CR AR II1. 37efeg vl

g fouw omwfim Iv. faygsh geer
F 0§ 03

(1) 1 m v 1

(2) I v I II

® IV I I IT

(4) 1III v II I
Match the pairs with regard to ‘NITT’ Aayog :

a. Vice Chairman 1. Suresh Prabhu

b Chief Executive officer II. Nitin Gadkari

¢.  Ex-officio member III. Arvind Panagariya

d.  Special invitee IV. Sindhushree Khullar
a b c d

(1 I IT1 v II

(2) 11 v I I

3) IV Im- 1 II

@ m 1w 1 1
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117, Wrefiadeht shioa/mniord faum/faum st amg ?

¥, 9EE R § Sl yere e g9

g, dgifoegrd weiiee feism adwem smfehd & oml.

F.  HIET G Gl TeHeT (e e teae B,

. HGhdl A9 3w e w1 P safas ger g
(1) e 37 o701 & (2) wad A

(3) A, Fomfurs (4) 31, % Mg

Which of the following statements is/are correct ?

a. India’s planning is a democratic type of planning,

b. Theoretically Regional Planning first started in America.

¢. Mohan Dhariya was the Chairperson of the Planning Commission during the

Rolling Plan.
d. Flexible type of planning was a characteristic of the Rolling Plan.
(1) aandbonly (2) Onlya
(8) a,bandd (4) a,candd

118. 319 Sse Jead ¢
3. ufgeft deETE e 1. Afm sufds aromen &R (LPG)
9. 1966 (vfge o faem) 1L st Seared Quian witer SR gE s
HATST (High Yielding Varieties Programme)
F. 1991 - 1992 1. femfls sggm smavms T
T < g=aneE e IV. ®d Svata Ieaa aneten anfded sl X 8%

H i * g
(1) HI v I II
(2) I I I
(3) III I I1
4) IV III I1 I

44

Match the following :

a. First Five Year Plan I.  Adopted New Economic Policy (LPG}

b. 1966 (First One Year Plan) II. Started High Yielding Varieties
Programme

c. 1991 —-1992 IT1. University Grants Commission set up

d. Tenth Five Year Plan IV. Attain 8% GDP growth per year

a b c d
(1 I v I I
(2 III II 1 v
3y II I II v
4 1Iv III 11 I
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119. aﬁwﬁmﬁm?ﬁaﬁ%g@aaémaﬂm@%?
| (1) el emIfi A

(2) EY gEEi ae

(3) et g=aTiE AT

(4) meﬁqaarﬁmzhw

Which Five Year Plan mainly aimed at modernization of industries ?
(1) First Five Year Plan

(2) Second Five Year Plan

(3) Eighth Five Year Plan

(4) Eleventh Five Year Plan

120. mmmﬁ.n.mmwmwm?
() wERE i T |
(2) ©ig +¥E A
(3) fage wh fiw
(4) e g6 e

Who from the following social reformers married a widow in the presence of
G.G. Agarkar ? '

(1) Mahadeo Govind Ranade
(2) Dhondo Keshav Karve
(3} Vithal Ramji Shinde

(4) Gopal Hari Deshmukh

FoT TS AR / SPACE FOR ROUGH WORK P.T.O.
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121, f&& femfafire Svara Jom=n i mieh ooy’ 7469 19 S aTg 2
(1) Tevm Hfd TR
(2) T TN GEhT
(3) TS T TR
(4) THTST gl JEEHR
‘Indira Gandhi Rajbhasha Puraskar’ given on the occasion of Hindi Day is renamed
as
(1) Rajbhasha Kirti Puraskar
(2) Rajbhasha Sanman Puraskar
(3) Rajbhasha Gaurav Puraskar
(4) Rajbhasha Mahati Puraskar
122, WEfEdeh! SO 3 & % (SAARC) =1 9e&d 7787 ?
(1) AUz (2) UM
(3) ¥HdH (4) ATEH
Which of the following countries is nof a member of the SAARC ?
(1) Nepal (2) Japan
(3) Bhutan (4) Afghanistan
123. WRAS Halq WS Sei=n A Id e TEe Siuvar 39 TR, @ garE At

g ?
(1) 10 feft (2) 9 feh

(3) 10-15 fmht (4) 915 foprt

India’s longest bridge, Sadiya Bridge, is being constructed on Brahmaputra river.
What is the length of this bridge ?

(1) 10km (2) 9km
(3) 10-15km 4) 915km

FHoTT HHETATS SN / SPACE FOR ROUGH WORK
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124. 62 =0 T Fomge qRem wEd e |

a1, wetepe ey
¥, Halepte JEY TEE
®. TAHR gEHeH
. walchwe 991

A 9 E7 S
1) I II 11T v
2y IV IT1 1I I
(3) 1III v 11 I
(4) III 1 II 1\Y%

II. fqa=s g
L. #fisfa gasf
IvV. gaee fam

Match the pairs with regard to 62°¢ National Film Awards.

a. Best Direction

b.  Best Male Playback Singer

Best Editing
d. Best Dialogues

a b
1 I II
(2 IV IIT
(3) III v
(4) 1II I

c d
II1 v
II I
II 1
I v

I.  Vishal Bhardwaj
II. Vivek Harshan
ITI. Srijit Mukherji

IV. Sukhwinder Singh

125, Wa@ Soledr oTftT st WMENG Feew U9 TewEl Al Jedra SmiRhde

e TS RV SRV wel.
(1) A (2) =>H
(3) arf¥rrRA (4) ofes

Raja Rajeshwari, who was born in India and migrated to the U.S., was recently

appointed as a judge in

(1) Houston
(3) Washington

city of U.S.

(2) New York
(4} Austin

FHoTT BTSSR / SPACE FOR ROUGH WORK

P.T.O.
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126, ‘Fefa’ ot SuoneTE R gwRat "=l Tt e,
(1) 17 TR, 2014 (2) 29 TFeist, 2014
(8) 17WH, 2015 (4) 297, 2015
India on successfully test-fired the ‘Nirbhay’ Cruise missile.
(1) Oectober 17, 2014 {2) October 29, 2014
- (3) March 17, 2015 (4) March 29, 2015
127, Jedie A W= STty IR ygEyd ol A ST el 3R 2
(1) 3T TRt (2) 3%, fiaw
(3) WA (4) I oA T
Who has been appointed recently as the head of the Indian Railway’s ‘Kayakalp
Council’ ?
(1) Ajay Shankar (2) A.K. Mittal
(3) Ratan Tata (4) None of these
128. 663 YA g7 2015 =1 TSHECHMEY RNl (g™ Y% s YehEel. &
ferry T Gehodat HTHTRA BT -
(1) Tererenfins
(2) RS O
(8) velsh alt
(4) ¥ T
In the 66t Republic Day Parade 2015, the award for the best tableaux went to
Maharashtra. The tableaux was based on the theme of
(1) Crowning ceremony of Chatrapati Shivaji
(2) Ganesh festival
(3) Pandharichi vari
{4) Bail Pola (Bullock festival)
129. ‘Statue of Unity’ WA T@eT FI HGR JecIHHE Tedl I Jaasl Tora Jefia g

(1) 180 #HX (2) 182

(3) 1854 (4) 186 HiX

A statue of Sardar Vallabhbhai Patel is being built in Narmada district of Gujarat. It
is known as ‘Statue of Unity’. The statue will be in height.

(1) 180 metres (2) 182 metres

(3) 185 metres (4) 186 metres

T FHTATS! AT / SPACE FOR ROUGH WORK
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130. ‘31eE U AINHEEd @EEash! B fFum g@#ie o ?
(1) srefusrt e sefdeets 992 (2015 — 16) WU #€ TS v el
(2) 2010 — 11 A= TR] FHOIH eied] T@EAE JoH=’ FI & AT YR 317,
(3) AoHa wewrft Bt AR o 15 98 9 $He 99 35.
(4) aiofig sefeft wRoarE fem wremadt 20 3§ fRa @R 9k 2.

Which of the following statements about ‘Atal Pension Yojna’ is false ?

(1) The scheme has been announced by the Finance Minister in his Budget speech
for 2015 - 16.

(2) This scheme will replace ‘Swavalamban Scheme’ introduced in 2010 - 11,
(3) The minimum age of joining is 15 years and maximum age is 35 years.
(4) Minimum period of contribution by the subscriber would be 20 years or more.

131. IiF e TV WA A SETEee! R 2015 AT Faed1 WRdaE e ang ?
(1) . yag wid @ g fEE
(3) oIl FHR IET (4) gfvar T

Who is the Indian recipient of the Whitley Award 2015, which is also dubbed as
Green Oscar ?

(1} Dr, Pramod Patil (2) Rajendra Singh
(3) Anil Kumar Agrawal (4) Sunita Narayan

182, WETHIE HIeE ArET TR “HRateT R <gd TTRE OdTd ST, 71 RN HLUIRR QuaTd

(1) 65 (2) 66

(3) 67 (4) 68

Madanmoehan Malviya has been posthumously awarded with this year’s Bharat
Ratna. The award was given to him years after his death.

(1) 65 (2) 66

(3) 67 (4) 68

133, foem uiwe=a wd W Eafir 3 e WeERSEle SR 29 AR e uRe 3w

g ?
(1) 7l — wer (2) R — |
(3) ®aRll - 9K (4) GUST - ¥H

Which two tehsils of Maharashtra stood first in the country in connecting all Zilla
Parishad schools by ‘E-Learning’ ?

(1) Haveli — Paranda (2) Nashik — Bhum
(3) Haveli — Bhor {4) Paranda — Bhum

Foeg] BIETNIS! ST / SPACE FOR ROUGH WORK P.T.O.
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134, <=1 §d HIHED SHSUEAT WOETEUl Wehourd! Jehdid WU oA STTEll. AT WehedTH

qre 20T A AR,
(1) TS (2) YHRdHT
(3) dHir=wen (4) HrargegmETen

A project to build a road network all along the borders of the country was recently
announced. It is named as

{1) Rajmala (2) Bharatmala
(3) Simantraksha (4) Simasurakshamala

135. TS Gieilel TR FHEY T R Teheur e el IR
(1) YO, g&s, AN, WU, A3, S
(2) U, §¥E, 30, ATTR, SHTEE, HoA
3) o, gug, AR, T, shomer, fEd
(4) o, 4%, g, TS, AR, s
Following cities of Maharashtra are included in the ‘Smart City Project’:
(1) Pune, Mumbai, Nagpur, Amaravati, Nashik, Thane
(2) Pune, Mumbai, Thane, Nagpur, Aurangabad, Kalyan
(3) Pune, Mumbai, Nagpur, Nashik, Aurangabad, Bhiwandi
{4) Pune, Mumbai, Nagpur, Aurangabad, Latur, Nanded

136. I3 faue @Ema i
. U FHE w4l 2015 @ A9 31 FHAT 9 14 HFa 2015 F1 e Hiel.
§. I e giifecran gaft wdwn e g
F.  EHlE & e e IR,
Flied<ht Hiua/siordt fum/faam feaes sméa 2
(1) HAaos (2) wFa A
(3) @ 4) o=

Consider the following statements :

a. National Games 2015 were held in Kerala between 315t January to 14th
February 2015.

b.  The Great Indian Hornbill was the official mascot of the event.
¢.  Hornbill is the state bird of Kerala.

Which of the above statements is/are correct ?

(1) aandb (2} Onlya

(3) bandc {4) All the three

Hoe] HHETATS! O / SPACE FOR ROUGH WORK
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137. . Wug Meifie = aEdia Eietatedt B fue siE 978t ?

(1) q yRar™ TwifRd TafeavETd) SRa.

(2) d ufEw O wftageiem (Ecology) %1 e W@ BN

(3) i aren 2eR TR 20159 A fosid smea.

(4) e TRETER T 2000 7= .

Which of the following statements with respect to Dr. Madhav Gadgil is not correct 7
(1) He was India’s renowned environmentalist.

(2) He was the Chairman of the Western Ghats Ecology Expert Panel.

(3) He is the winner of the prestigious Tyler Prize 2015.

(4) The Tyler Prize was instituted in 2000.

138, fiemiie faswhn dog see @ a9 fag ooe W 9w Foft g § sven
T SR STEd TR ?

(1) et i
(2) T 9iA
(8) =mrEw gfd
(4) 3y Jmsht

Rishi Sunak, an Indian origin politician has been recently elected as Member of
Parliament in Britain. He is the son-in-law of

(1) Laxmi Mittal
(2) Swaraj Paul
(3) Narayana Murthy

(4) Azim Premji

FOET BHTHTS! SR / SPACE FOR ROUGH WORK P.T.O.
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139. gFH-N T A Hedidia wrefia faum faemoe e .
H. WRATIA HIVETE SR G- g9fg @d Iuear 3.
q. W4 JUSVIMEE EATdien HHd T T 1,000 SEHA SHT HE .

H. @ 9-2 THFh AN,
T. @ IuswEmE gefie St S ggimaEter 10 99 stfavard el e,

Tl Hivrt e o onga 2
(1) 1,49,
(2 9,%,3
(3) #,49, 8

(4) afaad

Comnsider the following statements regarding Sukanya Samriddhi Scheme :
Any Indian citizen can open Sukanya Samriddhi Account.
Minimum deposit ¥ 1,000 for initial account opening.

c.  Rate of Interest 9-2% per annum.

d. Maximum age limit of the girl child for opening this account is 10 years.

Which of the above statements are correct ?
(1) a,b,c

(2) b,c,d

(3) a,b,d

(4) All the above

140. SIR.%. S50 I AHARA T A AT TRE YT TG HUSH G I I FA HAT

R, R MNE 3@ .
(1) AT (2) EERIRET
(3) AEHOT=T SO (4) Y. IR . FEH

‘The Tunnel of Time’, is an autobiography of R.K. Laxman. It has been translated in
Marathi by Ashok Jain with the title

(1) Common Man (2) Laxmanresha

{3) Laxmanacha Baan {(4) Mr.R.K Laxman

FHoea] HHTSE SIFT / SPACE FOR ROUGH WORK
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141, SISl U7 &1 AT ST vy vael wig faer

2 3 4
1 6 | 13
5 ?7 | 31
(1) 18 2y 17 3 12 4) 11

Study the number pattern and select the option for replacing the question mark.

2 3 4
1 6 | 13
5 7?7 ] 31
(1) 18 (2) 17 3) 12 4) 11

142. fog P a1 fig A v wfeem@ 10 et omR.
forg B 71 forg P g zfémdia 2 wfiet o
fog Q &1 fig B g 3 6 et amR.
fog C &1 fig Q wrgm sat@ 2 Wiw o1mR.
wrefte v A7 fog v vt 4 Adie ?

(1) ACP (2) B,C,P
3 QCA 4 AB,Q

Point P is 10 m to the West of Point A.
Point B is 2 m to the South of Point P.
Point Q is 6 m to the East of Point B.

Point C is 2 m to the North of Point Q.

Which of the following three points fall in a straight line ?
(1) AC,P (2) B,C,P
3 QCA 4) AB,Q

ToogT TS SR / SPACE FOR ROUGH WORK P.T.O.
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143.  HIHU=AT THEVY A6 qEaed! AR, e 9E e 2

(1) wfesft (2) FHeeltH (8) el (4) TEF

A river is shown in the map of Konkan. What is its name ?

(1) Savitri (2) EKundlika (3) Jagbudi (4) Muchkundi

FoeaT HHTHIS! ST / SPACE FOR ROUGH WORK
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144. Sva—grear ta d9vamaEe 3faa vaie faern.

A00 0091 a0 0 0
0O O OAA
VA : V. ?
O 0 A O ©
o o| o A& |o o] |04
OAA OAA O AA OAA
A A A A A
oA OO0 A OA® O @
) @) @) W@
Select the appropriate optit_m for replacing question mark.
A00 0091 a0 0 o
0 ® O OAA 9
%A o A %A A .
| 0 A 0
O e| (0 % |0 o] |04
OAA OAA OAA OAA
A A A A A
oA OO0 A oA® O @

(1) (2) (3) (4)

FTEY] BHTATS! AT / SPACE FOR ROUGH WORK P.T.O.
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145. HF A It ey TEo v .

(3) (4)

ToT] FHRITS! ST / SPACE FOR ROUGH WORK
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146, Gl ampta anfir s ffteer w6 snfor sreafegrean Swft o ot 3/@w, 9 fom.

56 27 27
9@81 9@36 3@ 36
7 9 9
® 1 @ 9

(3) 12 4 3

Observe carefully the figures and the numbers. State the number in place of the
question mark.

56 27 27
9@81 9@ 36 3@36

7 9 9 '
L 1 2y 9

(3) 12 : 4) 3

147.

e T Wit SeAta-a YEeh davarardl 3t wat e
32, 34, 37, 41, 42, 48, ?, 55

(1) 49
(2) 40
(3) 47
4) 50

Replace the question mark in the following number series by selecting appropriate
option :

32, 34, 37, 41, 42, 48,7, 55

(1) 49
(2) 40
(3) 47
(4) 50

Fo1 PHERNITS! SR / SPACE FOR ROUGH WORK P.T.O.
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148. vvfa=gT Uasft davamTdt 3fua wata faer.

o % Oy
?
2080 %
AN AN A
(1) (2) (3) (4)
Select the appropriate option for replacing the question mark.
- @ @. © $
&N G
30
) @
(1} (3) 4)

(2)

Foeg] HHTATS! ST / SPACE FOR ROUGH WORK
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149, g e T iaS IR, JETA STeUEdE YR o UNaR &M UTEw iAol nEd.
femrear g9 feag amdt @y wfgor Bum omR. wem amaw fdfin A faw ot s S

feaw I o5 foeT TR

T 7y guarh g SR @, X Hroren Rawt stgen S Je el o 2
(1) T&AR ' (2) ¥shaR

(3) wfER (4) TEm

Atul is a personal dance trainer. He has clients booked in from Wednesday to
Sunday next week. Madhu will be attending training two days before Dina. Chanda
is booked two days before Micky who is coming one day after Dina and one day
before Lalita. Finally Shiv is scheduled in four days after Madhu.

If Madhu is attending training on Wednesday, on which day has Atul double booked

persons ?
(1) Thursday (2) Friday
(3) Saturday (4) Sunday

150. Y& e Aifciehdial foeTd 9o Hagr.
31, 38, 48, 61, 75, 96, 118
(1) 48 (2) 175 (3) 96 (4) 118
Select the odd element in the following number sequence.
31, 38, 48, 61, 75, 96, 118
(1) 48 (2 75 (3) 96 (4) 118

151. S/ T 12,000 Wiedad UAET TF AGEE g5 HAT. 4 AREAHG Ay T 15,000 I
rfigrt fegemmetl, aalerer, o saaEe & WU < 2,200 T feen. = s TR

e foeet 2
(1) ¥ 978 (2) ¥ 1,000
3) 1,050 (4) ¥ 1,225

Arun started a business investing ¥ 12,000. After 4 months, Vinay joined him with
an amount of ¥ 15,000. At the end of the year, they earn a profit of ¥ 2,200. Then
find the share of Vinay in the profit.

(1) T 978 (2) T 1,000
(3) ¥ 1,050 (4) T 1,225

T TFHITS! STATT / SPACE FOR ROUGH WORK P.T.O.
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152. TaE TEUSET HIA e T AR ?

(1) 17°55 FW (2) 18°55" I
(3) 19°55 IW (4) 20° 55" 3
Which latitude passes over the Mumbai city ?

(1) 17° 55 North (2) 18° 55" North
(3) 19° 55 North (4) 20° 55 North

153, IRpld Q SATET W a1g, o qaty faE.

Q
(D | (2) (3)

4)
Select the option that has figure Q as a part.
Q
(1) (2} (3) (4)

Foed] SFTATS! SR / SPACE FOR ROUGH WORK
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154, “welin Al wiftg T IR ® wwhhane fag Fondtt gF faum fes.

.
.
.

g,
2.

(1)

WA THEGETEIET .

FAtew fhar fEgeart awen TRen wdw wiiTEEd TR Al FAe a1
e

Yol Wt diftar=n 3 oY ud el 3T,
F-8 (2) d-% (3) F-7 (4) #A-%

Select the two statements that together prove that “Shaleen is a Karnatak vocal
singer”.

a
b.

o

A

(D

Shaleen sings in a band.

Shaleen likes Karnatak music best.

Difficult music such as Karnatak and Hindustani require well trained voice.
Shaleen’s band performs Karnatak music.

Shaleen has practised Karnatak music for many years.

a-d (2) a-e 3 a-b 4) a-c

155. 3%

(1)
(2)
(3)
(4)
a.

b.

(1
(2)
(3)
(4)

STfees SR geeAT (WTO) R 1 JHeTd, 1995 T siftiam s,

TRaH 31 fedfw, 1995 Ut Swifere samaR FEedd (WTO) Saw shar.
e 31 SUS AR

BT & S AR

1 farum s 3mRa

28 faum % 3R

WTO agreement came into force on January 1, 1995.

India joined the WTO on December 31, 1995,

a only 1s correct

b only is correct

Both the statements are correct

Both the statements are incorrect

FTT BTG SN / SPACE FOR ROUGH WORK P.T.O.
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156.

54 A

10 &t oo orgeien age| o9 9N 9HE sween (S 10 d@t) smefd s e
HEeAd, 943 F ChIF A1 o @ifhd Swes Rt 2

(1) (15043 — 100m) (Ffh)> (2)  (100% - 1503 ) (F¥t)?

(3) (100 + 1503 ) (J)? (4) (1007 + 15043 ) (T

A regular hexagon (all sides are equal) is inscribed in a circle of radius 10 cm (see
figure). Then the shaded area bounded between the circle and hexagon is

(1) (15043 - 100x) sq.cm. (2) (100w - 150+/3 ) sq.cm.

(3) (100 + 150+/3 ) sq.cm. (4) (100m + 150+/3 ) sq.cm.

157.

AR HITSTE ¥4 50 9 SAE 100 T gt @ s for SeId @t @t 20% 9
T 10% FHt e, = HIUSH &F%e it ot Fft I o e
(1) 28% (2) 30%

(3) 41% (4) 58%

A rectangular piece of cloth was 50 cm wide and 100 cm long. When bleached, it was
found to have lost 20% of its length and 10% of its breadth. Find the percentage of

decrease in its area.
(1) 28% (2) 30%
3 41% (4) 58%

TTTYT FHETS! T / SPACE FOR ROUGH WORK
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158. 200 et widft=ar gaen 72 fr . wfd am 3 360 i wstan oty quiver sietevan s

Fdt 9= @i ?
(1) 28%¥H (2) 30 3%
3 1fife (4) 38Te

A 200 m long train crosses a 360 m long tunnel at a speed of 72 km/hr. How much
time will it take to cross the tunnel completely ?

(1) 28 sec. (2) 30 sec.

(3) 1 min. (4) 38 sec.

159, 7 It s TERedT TR, 10 Het ¥ Fehg A1 g0, 2 Wi =W § 4-9 fex It sween

i qrofi waen fRdl 3@ i ?
(1) 6 fufe 4092 2) 6fufie 45 Te
(3) 6fufse 55 gz 4) 6 fufe 50T=e

Through a tap, whose inner diameter is 7 cm, water flows at the rate of 10 m/s. How
long will this tap take to fill a circular cylinder whose diameter is 2 m and height is

49m?
(1) 6 minutes 40 seconds (2} 6 minutes 45 seconds
(3) 6 minutes 55 seconds (4) 6 minutes b0 seconds

160. 9 sFHaR faw wea TEd 61 3R, W Haid 418 9 gald EH TeEmdie 3t

.
(1) 06 (2) 08
3) 13 @ 09

The average of five consecutive odd numbers is 61. Then the difference between the
greatest and the smallest number is

(1) 06 (2) 08

(3) 13 4) 09
FoEgT HIHTFIS! SR / SPACE FOR ROUGH WORK P.T.O.
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161. 3= TEA GHE! 9 WEE SRR 460 @ 15 @, SR TH g 75 I, W gEG we

ot ?
(1 90 (2) 105
(3) 93 (4 108

The LCM and HCF of two numbers are 450 and 15 respectively. If one number is 75,
then what is the other number ?

(1) 90 (2) 105
(3) 93 (4) 108

162, HRE@FAY 16 HIA HHTR T HW 15 feaad qof Fara ot 39 M 20 G HHIRX
16 feaama ot XA, T FI 9 NG FIHTOAT FRAGHI o fhdt ?

(1) 4:3 (2) 5:6
3 4:5 4y 5:7

In a factory, 16 skilled workers can complete a piece of work in 15 days and
20 unskilled workers can complete the same work in 16 days. What is the ratio of
the efficiency of skilled and unskilled workers ?

(1) 4:3 (2) 5:6

(3) 4:5 (4) 5:7

163, Trma we 8% _ 452 9

31 31
‘ — 2) 32—
(1) 3132 (2) 32
31
3) 3= 4) 31
(3) 33 (4)

Find the value of 8% _475%2_9

31 31
1 31— 2) 32—
(1) 3 (2) 29
31
3) 3= 4) 31
(3 39 (4)

FHTET HHTHIS I / SPACE FOR ROUGH WORK
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(469 +174)” — (469 ~174)% _

164, W=
(x)=x(174)
1y 174 (2) 186
(3) 469 (4) 348
9 2
ip (469 +174)° (469 —174)" _, ox =
(x)x(174)
D 174 @ 186
(3) 469 @ 348

165. W M = a—b+/6 38T, 9 a9 b =T Fhaedt fordt 2
342 -243

6
1 :3,b=——-
(L a 5

' 5
3 a=2b=-2
(3) a s

(4) a=3,b=

o

v2+43
3v2-2V3

a —b+/6, then the values of a and b are

(1) a=3,b

_5
5

(2) a=2,b=

|

5
3) a=2,b=-2
(3) a 5

6
4) a=3,b=—
4) a 5

FHoeT SHTATS! TR / SPACE FOR ROUGH WORK P.T.O.
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166. “TEaepuTe & SATURIA MY quNiter Aigauars ser F T o & s wieft fied 2
(1) AT, HI& (2) TIRRR 9 WIeR
(3) Hd #ie | (4) 9.9, "t

“Book-keeping is the science and art of correcily recording in the books of accounts,
those business transactions that result into transfer of money’s worth” is a definition

given by
(1} R.N. Carter (2) Spicer and Peglar
(3) North Cott (4) J.R. Batliboi

167, =afwa @rearEn fam

(1) w0 =afwe oy fiesa) cfeean @@
St sufen W 24 oA @ ST

(2) e guedien 919 foaE
Tt Hoeiien S| U

(38) @9 fhar drer 9@ form
397 fohan w1 s U

(4) FOAEE Fvrd 7 T

Rule of Personal Account is

(1) Debit the receiver
Credit the giver

(2) Debit what comes in
Credit what goes out

(3) Debit the expenses and losses
Credit the incomes and gains

(4) None of the above

168, Wi2, 99 @H, IETH @A & Dlecd G FRIFA AT ?

(1) SR G (2) T T @A

(3) AR (4) e wd

Rent, Electricity expenses, Conveyance expense are reflected in

(1) Trading A/c (2) Profit and Loss A/c
(3) Balance Sheet (4 All of the above

FTET HTHTATA! ST / SPACE FOR ROUGH WORK
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169, Weiie®! HIVG A THT drel FIEIHE 374 ?
(1) -89 @)
(2) I 9 @ G
(3) g
(4) et soR § T

Which of the following is similar to Profit and Loss Afe 7
(1) Receipt and Payment A/c

(2) Income and Expenditure A/c

(3) Balance Sheet,

(4) None of the above

170. U@, % T ¢ 3 TN JEMT TE T F1 TZUETd ?
(1) w9 @ g
(2) I W TG THH
(3) o R e T
(4) e s € A

A Cash Book having Cash, Bank and Discount columns is called as
(1) Simple Cash Book

(2) Double Column Cash Book

(3) Three Column Cash Book

(4) None of the above

171. == e i 18 [& S ?

O TR (2) wawE

(3) V@ I=H YR ERPCD

A book of prime entry recording the transactions daily is called as
(1) Journal (2) Ledger

(3) Cash Book (4) Trial Balance

FTET BHTAE! RN / SPACE FOR ROUGH WORK PT.O.
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172.  “sreai) awmed” @idfiadhl SHomET gy 3T SR 777 ?

(1) #foe geen (2) g

(3) shiemEn (4) vmiqRr e
Which of the following cannot be a “not-for-profit” concern ?

(1) Labour Unions (2) Corporations

(3) Sports Club (4) Charitable Trust

173. @refa fagm fo=mmme =i
H, TS AET GEAE AiEEETS 50% TR0l SR WRE B fEen 3W S-el .
«.  UEEdmed 50% SEw 3R faER ¥ uRe oo o,
(1) fud 1 50, T g%
(@) faum a1 9%, s W=
(3) TR o R
(4) e Foum S0

Consider the following statements :

a. India has become the first country to reserve 50% seats for women in local self
government.

b.  Bihar was the first State to offer 50% reservation for women in panchayats.
(1) Statement a is correct, b is false

(2) Statement a is false, b is correct

(3) Both the statements are false

{(4) DBoth the statements are correct

174. AEEHANE! B FhesdT sAVTE oA it 7= w5 2

(1) ol dftomm (2) TEaF Afthed

(3) wiema (4) SEHE gua

Which accounting principle recognises the independent existence of business ?
(1) Dual Aspect (2) Entity

(3) Cost (4) Objective evidence
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A, GG gEh

9. Tk g

% UG =

5. Fwwd

(1) e 2 safrs
(3) W 4) s

Which of the following is/are Subsidiary book(s) ?
a.  Purchase Book

b. Sales Book

¢.  Cash Book

d. All of the above

(1) aandb (2) aandc
(3) bandec 4) d

176. Telierh SHiviear @y A5t W fags o 2
(1) =femE @d
(2) arafa® (Fafd) @
(8) “ard @rd
(4) aOTUh! TRt ATE

Which of the following accounts would always have a debit balance ?
(1) Personal A/c

(2) Real Ale

(3) Nominal Afe

(4) None of the above
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177. TR FOSHNH Ffed d TURE Fo [ WwWGg Holed WENE 9T e el gy

(1) <HdHe a1 B
(2) Trae Twma 916 8
(3) Tr=a® T @2 g
(4) Feas e aea

Decrease in provision for bad and doubtful debts would result in
(1) Increase in Liabilities
(2) Increase in Net Profit
(3) Decrease in Net Profit

{4) Increase in Net Loss

178, WA FHE S@HE AHH (AS) & fRR Aremash geafig g ?
(1) ©ud 9 (2) wud. 2
(3) TuH. 6 (4) wud. 10

Which of the following Accounting Standards deals with Accounting for Fixed

Assets ?
(1) AS9 (2) AS2
(3) AS6 (4) AS10
179. TESKERIA HIA Wd HAMT ATAEEa 3TV TETITH 3.
(1) = (2) g 9w
(3) & (4) w9

Goods returned to suppliers should be accompanied by
(1) Bill (2) Cash Memo

(8} Debit Note (4) Credit Note
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180. TATReT=a T ALY UHATHEIT SHaMT Aig el W Tar.
(1) i (2) qusha
(3) WRUA (4) w9
The Column of the Journal is not filled in at the time of Journalising.
(1) Date (2) Particulars
(3) Ledger folio (4) Amount
181. = gL N [T 39§,
(1) ol o (2) dEg
(3) qEIHYTEH (4) o@HH

starts where book-keeping ends.

(1) Trial Balance (2) Balance Sheet

(3) Book-keeping : (4) Accountancy

182. @refta migdrean sar, 314, 2015 @0 Wigaarst WA fhdt o/ o |0
ot Wigs < 3,20,000; S1f¥% I (1) T 1,40,000; STf¥s THT I T 20,000;
Iaefiadia = T 900; s geaeft wieas T 20,000 AT WsaaEaia ST @A T 19,800.
(1) T 4,78,900 (2) ¥ 4,78,000
(8) T 4,59,000 (4) ¥ 4,79,800

From the following information calculate Capital Balance as on 315% March, 2015.

Opening Capital Balance ¥ 3,20,000; Annual income (Profit) ¥ 1,40,000; Annual
Total Drawings ¥ 20,000; Interest on Drawings ¥ 900; Additional Capital ¥ 20,000
and Interest on Capital ¥ 19,800.

(1) ¥ 4,78,900 (2) ¥ 4,78,000

(3) T 4,569,000 (4) T 4,79,800
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183, wHW A7 SHaEmETdE 1 ATGHTEE SRR AT
(1) =g 2 f&r
(3) gH (4) IS
Depreciation is charged only on the assets of a business.
(1) Current (2) Fixed
(3) Intangible (4) Immovable
184. UHI Famiiat Y HAe You UG (Foare e ugdiy) aem dF ¥ e g Ihs
10 28 H TN STHRAT @ o1 Jamfie &t see 909 T 10,20,600 0% IR @ =
Faamfih ge fohwa fordft o 2
(1) ¥ 11,47,400 (2) T 14,00,000
3) ¥ 12,20,000 (4) ¥ 15,40,000
After charging depreciation on machinery @ 10% p.a. for three years under the
Reducing Balance Method, (written down method), the balance of Machinery Afc is
¥ 10,20,600. What is the original cost of machinery ?
(1) ¥ 11,47,400 (2) ¥ 14,00,000
(8 ¥ 12,20,000 (4) ¥ 15,40,000
185. d S Fauite v s 3R 2

Taavl 7,

A, GY ANE U Hwed (F9) 4 gE gal.

&, W S queid 9r (g) ¥ g€ gl

(1) ad 3 ST T8 (2) F F IEY AR
(3) 9 e AT I (4) D s A

Which of the following two statements is incorrect 7

In the Ledger Account,

a. the Debit side of particulars starts with the word ‘By’.

b.  the Credit side of particulars starts with the word ‘To’.

(1) Only a is incorrect (2) Only b is incorrect

(3) Both a and b are incorrect (4} Neither a nor b is incorrect
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186. @it g o faurht Ho I IR ?

3.
q.

(1)
(3)

TN God TR aTed 3Hel aft gHn SRR I,

T At | .
FE 3 AT AT (2) % & A 3R
H 9 9 34 A amda (4) @1 a9 A A

Which of the two statements given below is correct ?

a.

b.
(1)
(3)

Depreciation is charged even if market value of the assets has increased during
the year.

Depreciation is not a source of funds.
Only a is correct (2)  Only b is correct

Both a and b are correct (4) Neither a nor b is correct

187. dieegme (Sa-usiiensd) Hd T e ?

(1)
(2)
(3)
(4)

areafaes (Fufty) @@ g e g

Fufre @R 9 AU @

Tt (Fafd) @™ 9 Jufes @r

aredfas (Fufy) @, Fafes @@ 3 T g

Which Accounts appear in the Balance Sheet ?

(1)
(2}
(3)
(4)

Real Accounts and Nominal Accounts
Personal Accounts and Nominal Accounts
Real Accounts and Personal Accounts

Real Accounts, Personal Accounts and Nominal Accounts

188. @aéq%mﬁsﬁaﬁm%%mqﬁwm?

.
9.

(1)
(3)

HigaaATaliel SIS %! 9 qlel @iedTd 5T g,

Faelt s = (s af|) T% 3 el T wed.

Had 31 AT TR (2) %F § Ay AR
39§ g A IR (4) 99 g AW TER

Which of the following two statements is correct ?

a.
b.

(D
(3)

Interest on capital is credited to Profit and Loss Account.
Interest on drawing is debited to Profit and Loss Account.
Only a is correct (2) Only bis correct

Both a and b are correct {4) Neither a nor b is correct
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189. & o Taamideh s foam sOe) 3 2.
A UhIE UTe S (W) Asrehisel Teeel S
3. |d A (WEETeAT) SEvEEvIE Hig HUa a9,
9. < 2oty Ftt Wt g (Fafiean o) fo=ft Tie Svam e sm.
(1) a3 SR AR
(2) e § ST Y
(3) 99 3 U A
(4) Hivad faam st

Which of the following two statements is correct ?

General Journal which is also called as Journal Proper

a. is meant for recording all the major transactions.

b.  is meant for recording transactions that do not occur frequently.
(1) Only a is correct

(2) Only b is correct

(3) Botha and b are correct

(4) Neither a nor b is correct

190. U&e Rymdh wivi faam 9 3m ?

(1) s (Tuf) g affenr @9 9 7 (TReag 9 Jfaq) 9899 S99 9 @Y
(gmd 38 TH) T 2.

(2) Amud T wffem g 9 Wgs ST .
(3) =i T T afifs 7 Fim (Fara ofe anféfehme) T ..
(4) FATH HIURE T

Which of the following statements is correct ?

(1) Real Accounts are classified into Expenses and Losses A/c and Incomes and
Gains Alc.

(2) Nominal Accounts are classified as Tangible and Intangible A/c.
(3) Personal Accounts are classified as Natural A/c and Artificial A/ec.

(4) None of the -above
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191. Siewn gesa
H I & 7
3. hem fashie SrEg I. 1899
5. Affer el = e I 1957
%. W faehie wE III. 1956

(D

H q <+
1 1I III

(2) 11 II I
3 1 III II
4y III I I
Match the list :
Group A
a. Central Sales Tax Act
Additional Duties of Excise Act
¢. Indian Stamps Act
a b c
(1) I II 111
(2) 1 I1 I
3) I II1 II
(4) 1III I II

Z05

Group B
I. 1899

II. 1957
III. 1956

192, % T Han 9 (GST) 17 giad el ?

(1)
(2)
(3)
(4)

T I BrETdt T H
T AT TS FTETS
TeE

Tl Hrordd A

What does GST suggest ?

(1)
(2)
(3)
(4)

_A single tax for goods and services

Different taxes for goods and services
Direct Tax

None of the above
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193. IR deuid @refia fau foemre = .
A1, uREd ey we wo.
9. e adfisa fdy e s wo.
F. FIIEET HIEHR R,

Tl Ryt SR/ foam/faus stex a2
(1) Fed A (2) bod ¥
3) ®FAATT (4) FTFRTIH

In connection with liberalisation, consider the following :
a. Removal of trade barriers.
b. Progressive elimination of control by State over economic activities.

¢.  Strict implementation of laws

Which of the statements given above is/are correct ?
(1) aonly (2) bonly
(3) aandbonly (4) bandconly

194. wrERTE o= g1 afteny eg
. e
4. GYE IUHA
%, FFEEEar
(1),%31311&6 (2) wFd § A0 %
(3) wad A AT ® (4) 0= gd

A policy of privatisation leads to

a. Denationalisation

b,  Joint ventures

¢. Liquidation

(1) aandbonly (2) bandconly

(3) aandconly (4) All the above
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195. 3. NfiF YURUHR PN = 918 Fea Fel Iw.

9. B FATA AU € YW IR IeqIeATEAT B 2:8% THE Fel.

(1) ¥ T el TS FGT 7§ § o SR AR

(2) 9T I TR 3T ¥ 3 3 A FRT IR

(3) 319§ UHHFN FESd ARG

(4) 3199 A Tk AR

a. Agricultural growth has stagnated after economic reforms.

b. Investment in agriculture sector was 2:8% of GDP.

(1) Both a and b are correct and a is a reason of b

(2) Both a and b are correct and b is a reason of a

(3) aand b are not related to each other

(4) Both a and b are incorrect
196. 1. SEfaNES aaveh 39 (TRIMs) faesft jaevhern s gt 23

9. SARaYEs aavgs 39 (TRIMs) 14 Ye¢q 9 samrta—gan gaey g 2.

(1) o 3 SR AR

(2) o & G IR

(3) TR faum sl s

(4) I faum 9% omea

a. Trade Related Investment Measures (TRIMs) give national treatment for

foreign investors.
b. Trade Related Investment Measures (TRIMs) include patents and trademarks

(1)
(2)
(3)
(4)

for protection.

a only is correct
b only is correct
Both the statements are correct

Both the statements are incorrect
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197, SmiFERHTTE ¥ Bl o

. wisad ¥ T A9 Felg T

. VRIS agd i WeEwte.

(1) e 31 FUS T8

(2) % ¥ TS AR

(3) T T TE SV AR
(4) 3T G TH AR

Globalization results in
a. faster movements of capital and finance.
b. growing economic interdependence among nations.

(1) a only is correct
(2) b only is correct
(3) Both a and b are correct

(4) Both a and b are incorrect

198. ¥ 1991 T HH FHRA e guron=h geard el dogr-iumsar Iger@re §ER 8 ?
(1) = wiwue
(2) . mmEd fam
(3) sfem meht
(4) T mh

Economic Reforms in India were introduced in 1991 by the Congress Government led
by

(1) P.V. Narasimha Rao
(2} Dr. Manmohan Singh
(3) Indira Gandhi

{4) Rajiv Gandhi
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199. 2000 FrE=a U Ififawaes gionaia 39 ¢

A, IR T Qs U,

§. Wi FRe e

%,  Te fusres Al Medme.

T HIUTT FTE U STR/TRT ?
(1) Pad A (2) ad A 0T
(8) wF A T+ (4) o, 9 UH

The National Agricultural Policy 2000, aims at achieving

a. food and nutritional security.

b. sustainable agricultural growth.

c.  encouragement to production of cash crops.

Which of the above is/are correct ?

(1) ‘a only (2) aandbonly

(3) aandconly (4) a,bandc

200. MFN 9 T SV 0
(1) ot % A T
(2) o B I T
(3) ™R %aE A9 ad
(4) TN Fogiadt T T

MFN treatment means

(1) Money From Nation Principle
(2) Money For Nation Principle

(3) Most Favoured Nation Principle

(4) More Favourable Nature Principle
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(8) wegfcsed fafda o Rt Svfle &= =@ (6 %) [, JyfereafiiEa STwhse a1 3@
mﬁmﬁm%mwﬁmﬁ%@m I A TR 9 IR S AN
i oo oheiTed gom W hiey wwaeEas futam-82" arde wgdgEn s
FOAT 39 | S sgerdl HHTST Tk ANTRAT FIEETAT AT/ fohe T8 G TR (o= sereA e
RERESE

(9) T YFUEFERE sy fafga Foe 92 GueaHat SR € ITYReeT e aiet TTeRaTETat
USA W TE SR, AT GHensenETl AIvETgE] IHEan ATuedt SWEteReT |H-1
THaREmTES 7 frET wa W A IR,

STHeIT Ul

T. %. 201, W A T FOgEE SV ged: T s 7
(1) Tt garE qEEd (2) ety fermEmR
(3) TS THHIE U (4) TITSHST TR

T AT A ST () T UOHIET Ua HE MR, TS AT WA I (3) B
IS WTATASHIE T 3. 201 TR ISWFAF @) 8 ag@ 90 DHifwd 64

T HEaEE AR
w20, O @ @ @

3T U TEqT TYTYfeaehdie Yedeh FRATET qHET IAGHITH 71 greTen s idee
IR T T WRHTRHR Heiid ages QUdTl STHifed He SrEaal. il
T Tl VT Sie arare, Ufe an wimge o aE 1.
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